@Angry Miao

AM AFA BPRP{#ERB F M

AM AFA User Manual

I
=32 4]

Thank you for your purchase


https://manuals.plus/m/5eedc08e7532b725fdeccac01ab0b3c85ee079eab1ece67fa618d23713b42085

o1

02
03
04
05
06
o7
08
09
10

=

el 0 03
BRIEENTJHIE  ceveeeerernnrreerennemttimtiniiieetar e eeters e rnsseeaesanaaeanns 08
BREBHEIRES  vvverrernnrrrnerreresnnrmterennemteeeeaereeeransreerterennarneaaennns 10
SIEANGERIET v vrverrerrrnnereerennsaernsrenierniereaerraaesaeenaereaesnesnnns 13
A = b= T T T TP 16
BEEALFRUBLE +oevvvvvvoererrrnnereerennarrneeeiaerieetae e eete e e aaeaas 18
FEEBEE (BMHFDT) ceevrrrenrererrerearerinienroriiiiniirireare e, 20
3= - 22
T L LT T T P P D PP PP PR 24



01 ™midbe



7= i B

FERABMR

ANABE
e

IXgh

BAY / KTBEENX
HWEZEAR
EELGR
RAEKT

USB #01
B3t

Qi EL4FEE
ENBEKINFE

FRIHEEE AM AFA
AM-07

Eff 200Kg, EF: 2.25Kg

BB 65°, Tenting ffifs% 5°

=B oTi8 Leaf-Spring

B, 2RLP

PC i (Windows/Mac OS) o1 HEX

HIRR

B, TLBEF 50

FHRE: BRI, EERSKT . Capslock #2747
USB20, TypeC, X#CtoC

HRAY 5000mAh *2

REINERLEW, BiliESETF 85%FF/E, EZ100% BHELE
258W



7= i B

BREX




7= i B

=




7= i B

BRTIRE
MEZET: 1. BIRAT 2. FEHIRSIT 3. CapsLock $2RAT




02 REAMNAS



REANT@S

1. % AM AFA (Adjustable Flex Alice) ME3EREH

2. B—REMAT USB HRELEEIRE SE

3. K3& FN + Esc, FF#l

4. (EBRERS) KEFn+Q3s, ZEQHETHEER (ERHMEITRX) , #ABEFENPRS
5. 5RiRRERN/E, MAUER



10

03 MREHE

Al

VALY,



RERERES

FERAL

W

PHRIEFERIGE

BLER

1.4£3% Fn + Esc 1s ¥4l

2.1$% Fn + Esc bs %4l

KIRFn+ Q/W/E 3s, EHIRE V2/3

$21% Fn+ QIW/E, 11#ig#& 12/3

&R
BRTREER
BFATER

1LEXPRAS T

EERTTEEIFR

QWERHTTHERR

2. BRI

BRI RENIE 3s, QWE BRI TIREES 3s

3 EEMINRTIE:

EERTTREER, PCBITRIREAERATHNTI
(EBRSTLIEER 3sFRR, WHBHEMERIK)

1EERST:

ERRSITREITR

QWERNHTITHEES

2 RRE:

EERTTREINNE s, YWERUIMTIREESR 3s

3 EEMINRTIE:

EERSTREER, PCBATRIKENERATHIK
(ERRTITAERER 3sFRX, WEEERLK)

EERTITREER

1



RERERES

Fo+ [ R T —
T3 o D TRRIATE 10 FEAT, FEREERT

75-100%, BRTREREEREER

50~75%, BRI RRBREERLEER

B ER Fn+P

25~50%, BRBEREESEER

0~26%, BFNAERERSEHES

BEEERBRET, BRTFREE, AKBLYSEE
REER

BREHRE, BEIREER
BEEDR HHBET 5%, BFTIGRE (§52MEE—R)
IREHRE KIEFn+R 5s

12



04 SFEMBENMIREA

13



g =Lk A At

LAYER O

14



g =Lk A At

LAYER 1

1.BT_1 4. Reset 7. KT8 4%
2.BT_2 5. BERTR 8. XTRUREE +
3.BT_3 6. NTHMEE 9. KTRUR FE -

15



16

05 BMUMBEENX



BAUBENX

diy.angrymiao.com

-XBZREMRAEN: BE/ BRBE. B8+ BE-. L—#. B/ EE. T
(BEERGIHTBAREREN, BPITRTHM)

-RUDERSUIFTE
-ERUBEEHENRFEMESERENE, UBRENRUAENRE, THMMBIFRER HTENR
- BB 73 A LW ISR R

17



18

06 BEHAFRES



EHHFREE

FRIEECSM, AM AFA 1248 3 BRI, REMREBNARDERRNFRMAR . MEMTES, RNFIMEM 2 HBAME (R
BW/BE) , 23K Imm BEH poron 1RIFER, MREMNMEALRIERE,

RER B A T
—
(RRE)
1 2 3 =
1, — N
| %‘ﬁml‘ (IR AR ) RAARR
=
(REERRRE)
mEn (%2 2%) TEEE | REED | kEEE | TEED | IRAED | okEE:
POB B }
(BNIEE, oTH7)
B2 (R ,
(BB L)

19



20

07 #HEFRE (BKHRT)



FRFEWE

EETRNFRLE

21



22

08 &

A+ ==
8



aRER

1. B4R A E A (10PCS)
2. REWBRHEME (2PCS)
3. {EA R4 M2*3 (2PCS)

4. fEREIR2 M2*8 (2PCS)

5. EERIRLL M2*4 (4PCS)

6. fEiRIR L M2*8 (4PCS)
7.T6 4827] (1PCS)

8.TAL Bl4g#27] (1PCS)

9. #% (2PCS)

10. ZBE R (1PCS)

" ABPERE (IPCS)

12. B IRAIRR (2PCS)
13. B HIBEEM (1PCS)
14, I %

15. 8P

16. #3580

23



24

09 BrAZAN



Bt AN

Fifhrs8a:
ATREEONERBYAR, FEFRIKE, F—HEHTHHEE. 519 SN BH2HE—, BENTURIENNN—4EE.
EXETHEIME SN, BEEFAREZTR.

Angry Miao BN FARFRESRENS R, RIEIFRIRMIMRHHRS, ARNESRENINFR, HAHTHHAZE.

BRIESBRUOT:

1. B3R angrymiao.com/verify/
2. %\ SN 1B

3. REEE

BAOmREHRE—, BRATURIEN NN —4EE.
ERRAMIEANFTREZTMRETMEY, FERFARINZ" R,

25



FRPEENRENRRIE

sENRE
AR @ E ® A LRBE £ TR
(Po) (Hg) (Cd) (cr(vi)) (PBB) (PBDE)

EN R e 85 1R X o o o o o

EEEH X o [e] [¢] o) o)

B o o o o o 0
B3t X o o [¢] o o
RS X (0] o] [e] o) (o)

ARG SI/TN364 BIERS.

O: FRZA EN R I A EME R0 S B 7 GB/T26672 EHREERUUT;

X BRZEEVRELEZHHNE PRV PNEERE GB/T26572 MENREE R, BRMVRRENBRNERTSTR. BRZELBIEBHRIR,
VASe 38 SRR A SR BOELR

R8O E B 77U AR SI/T 11364-2014 MABAX M P EBMEM, A/~ @RELREBHIMEIEM LT EHHIRGR
EAMRR, BRTAGNAMFES, FRREAH FNERBRIZRTREMRE., A4 ENERBRRR
T 7= fa EEE S 2 =B 5 R B B9 3R A B RARIR .

26



-3
25

- FIEHRMR. BE. FEIRAKSD,

- EHAESREDEEER.

-ENBTERAEP.

- BMRKERIEER.

-MRBNERAASERERKR, RSRNECAREAERNEHRTEERE. XRTRRESTRNRSM.

27



28



ERERRR

XFRRE
1. SPRREEHES U FERE, MAAMRIMERRETRINBERE, FEREYR NRAR>ZHAERYE, BREFEN
RAMMIA, 7£ 24 /NEFRERIEA],

2ESWRBEZHET HA (BE78) THERE (PAER~RIRS) , £815HA (BE 15 ) ROIMUBEHRE, 3
ZEFEREEE,

SMWFREFR, B— (1) HrEHNTR, REEHT— (1) RERFRE, WREEFHTER, REHBEEERKS.
4 UTHERAERRERS R

- BT MERREEH

- FFRREBEEHANRE;

- FREEARENFEFENRS, LNZFETaNKE;

-FRABRE. MR, BEAEFAR, URFRIMNAKRD (ERNTF 03mm NERIRE) , SK, BESAHINE
RANER, AFEEEEEN.
5. EAMAREBRERERR, EERBATFEE, BAFPRAREFRERENES.

29



ERERRR

XFRE

HEMEN AT R HIMIEANRAGES, BORUENEECRS, BEREANMIEEHEREBRNKREN REHP
IRERBESKZ BEFIATE, WR~REREHRMNT:

EHCRERTESERENTR, RINRE 1 ERERS, NPRERBRGIRMTELE.

UTERAERECER

1. kAR AR R 69 18 S ;

2. BEBHRERIR;

S ENERFIANREASH T RIAN, QFBTHR/ KESBUHMEY. RRRRES;
4 REBHEEABRLFAUNBTSR. FH., #E%;

5IBMER, EERPHTEE. ROSHNFRRE, BEFREX;

6. EATHMER (MEB. ME, KRF) ERNF=RRA,

30



ERERRR

ERRSES
RBEHEEH, BRIUTRERTESFE:

. BHFE BRTE RE(EH) T (55)
B5 v v v v
s v v
#1z v

L EREREMENTR, EZEF8PR, HEZRRANEZZEE, R, BENONA., NBELE, BRTROKEI
REMRB,; NTRNERE> R, BRERE,

2AFRARERESGEBRRERN, BEEEEWEREESE, TRULEERS,

31



%
Index

01  ProducCt OVEIVIEW «eeceeeeeeesrueatetiasaterstaanesetesennnsssessnnesssssnensesns 33
02 Quick Start GUIE +e-erereserreroreriiittiiiiantiiiiietatsiosiaseresinsnsasanns 38
03  Shortcut Keys +esererererrreerneuinmieiiiiiii e 40
04 Layers & LayOuts «eeeerereeeiiiieiiiiiiiiiiiii i e 44
05 Layout CuStOMIZAtion ««««teereeeetetiiiiii e 47
06 Gasket AdjuSEMENt «orerererrreitiieii 49
07 Disassembly INSTrUCLIONS +-revererrerrenrernariariiiie e eiraeneeaeaees 51
08 Packaging CONtENtS «+ereesesrerresenruntetiiitiiiiitietiiiiiiieiaeaa. 53
09 Anti-Counterfeiting NOtice +eseeereresrararrareirtiiiiieiinineraneaneaees 55

10

After-Sales SEerviCe ciietriiiiiiiiieiiiieiieniseatastsestsstssttessessssssssaaes 58



01 Product Overview

33



Product Overview

Product Name

Model Number

FCCID

Weight

Typing Angle

Structure

Drivers

Layout/Lighting Configuration
Switch Mounting Style

Connectivity
Indicators

USB Port
Battery
Qi Wireless Charging

Maximum Power Consumption

34

AM AFA

AM-07

2A3FY-AMO7

Base Kit 2.00kg, Bundle 2.25kg

6.5° keyboard inclination, 5° tenting

Three-stage adjustable leaf-spring

No additional drivers required, supports N-key rollover
Configurable on PC (Windows/MacOS)
Hot-swappable

Wired, Bluetooth 5.0

Power indicator, connection status indicator and Caps Lock indicator are located on the
mainboard

USB 2.0, Type-C, supports USB-C to USB-C
Lithium polymer 5000mAh *2
Wireless charging 5W, starts charging automatically when battery power drops below 85%

25W



Product Overview

Bundle

35



Product Overview

Base Kit

36



Product Overview

Indicator Lights

From top to bottom: 1. Power indicator, 2. Connection status indicator, 3. Caps Lock indicator

37



38

02 Quick Start Guide



Quick Start Guide

1. Remove AM AFA from the packaging.
2. Upon first use, plug in the USB cable to activate the keyboard.
3. Long press Fn+Esc to turn on/off the keyboard.

4. When not plugged in, long press Fn+Q for 3s, until the switches of the Q key continuously light up (other in-switch LEDs
are disabled), to enter Bluetooth pairing mode and connect to device.

5. After successfully pairing with your target device, the keyboard is ready to use.

39



40

03 Shortcut Keys



Shortcut Keys

Turn on/off

Enter Bluetooth
pairing mode

1.Long press Fn + Esc for 1s to turn on the
device

2.Long press Fn + Esc for 5s to turn off the
device

Long press Fn + Q/\W/E to connect to device
1/2/3 respectively

The power indicator indicates green.
The power indicator is off.

1.During pairing:
The indicator light on the mainboard blinks white, and the in-switch LEDs of the Q/W/E key
continuously light up in white.

2. After pairing:
The connection status indicator flashes green for 3s, and the in-switch LEDs of the Q/W/E
key light up in green for 3s.

3. Connection successful:

The connection status indicator lights up in green, and the PCB lighting effect will return to
the lighting effect displayed before connecting.

(The connection status indicator will light up in red for 3s and then turn off if pairing is
unsuccessful.)

41



Shortcut Keys

1. When re-connecting:
The indicator light on the mainboard blinks green, and the in-switch LEDs of the Q/W/E
key continuously light up in white.

2. After switching:
The connection status indicator flashes green for 3s, and the in-switch LEDs of the Q/W/E

Switch Bluetooth Short press Fn + Q/W/E to switch to device ) .
) X key light up in green for 3s.
device 1/2/3 respectively
3. Connection successful:
The connection status indicator lights up in green, and the PCB lighting effect will return to
the lighting effect displayed before connecting.
(The connection status indicator will light up in red for 3s and then turn off if re-connecting
is unsuccessful.)
Wired connection The connection indicator continuously lights up in purple.
Press Fn + ] to switch between lighting
effects
Lighting 10 levels of brightness adjustment, off is the lowest brightness level.

Press Fn + | to switch between brightness
levels

42



Shortcut Keys

75-100%: the indicator light continuously lights up in green after displaying its green light
sequence.

50-75%: the indicator light continuously lights up in green after displaying its yellow/green

light sequence.

Battery level Fn+P
25-50%: the indicator light continuously lights up in green after displaying its orange light
sequence.
0-25%: the indicator light continuously lights up in green after displaying its red light
sequence.
When charging wirelessly or using a wired connection, the power indicator will blink in the
color respective to the current battery level.

Charging

When the battery is fully charged, the battery indicator will continuously indicate green.

When the battery level reaches below 5%, the indicator light will display a red light

Low battery level 3
sequence (repeated every 5 minutes).

Factory reset Long press Fn + R for 5s

43



44

04 Layers & Layouts



Layers and Layouts

LAYER O

45



Layers and Layouts

LAYER 1

R1

R2

R3

R4

1. Bluetooth device 1 4. Reset 7. Switch lighting effect
2. Bluetooth device 2 5. Battery level 8. Lighting effect speed +
3. Bluetooth device 3 6. Lighting effect brightness 9. Lighting effect speed -

46



05 Layout Customization

47



Layout Customization

diy.angrymiao.com
- All keys are customizable except the FN key.

- Custom multimedia keys are supported: mute/unmute, volume +, volume -, play/pause, previous song, next song (multimedia
keys are not enabled by default and can be added to layers manually).

- Up to 7 layers are supported.

- Additional layers and features will be added through future firmware updates. The latest firmware can be obtained from
diy.angrymiao.com.

- Please refer to our website for more information regarding firmware updates.

48



06 Gasket Adjustment

49



Gasket Adjustment

AM AGA provides 3 different leaf-spring levels in the form of gears, each providing a different feel, varying from soft to hard.
Included are 2 kinds of leaf-spring materials (stainless steel and phosphorus copper), and 2 sheets of Imm poron foam pads.
These allow you to fully customize your keyboard to achieve the setup that's most comfortable for you.

Stainless Steel Leaf-Spring Phosphorus Copper Leaf-Spring

Gear 1
(no stopper)

1. 2 3 o a

ear 2
[ e )] (smnous

Gear 3
(stopper ingear 3)

Pads (2 sheets with cut-outs) No pad 1pad 2 pads No pad 1pad 2pads
PCB pad (removable, attached by default) 1
Bottom pad (without cut-outs, attached by default) 1

50



O7 Disassembly
Instructions

51



Disassembly Instructions

Please refer to the disassembly guide for the full disassembly instructions.

52



08 Packaging Contents

53



Packaging Contents

1. Phosphorus copper leaf-spring with mount (*10)
2. Stainless steel leaf-spring with mount (*2)

3. Engraved screw M2*3 (*2)

4, Engraved screw M2+*8 (*2)

5. Iron screw M2*4 (*4)

6. Iron screw M2*8 (*4)

7.T6 screwdriver

8. T4 L-key screwdriver

54

9. Flat cable (*2)

10. Pad (left)

11. Pad (right)

12. Leaf-spring stopper (*2)

13. Leaf-spring adjustment feeler gauge
14. Storage pouch

16. User manual

16. Disassembly guide



09 Anti-Counterfeiting
Notice

55



Anti-Counterfeiting Information

Anti-Counterfeiting Statement

In order to protect your rights and shopping experience, please verify the SN code as soon as the product arrives. Each SN
code is unique and can only verify its corresponding item. If you cannot find the SN code, please carefully check the product.

Angry Miao is committed to providing users with high-quality products, which are equipped with anti-counterfeiting
services. All products purchased from official channels can be checked for authenticity. To check product authenticity,
follow these steps: TN

1. Log in to https://verify.angrymiao.com

2. Enter product's serial number

3. Click on the enquire button

Each SN code is unique and can only verify the corresponding item.

If you cannot find the SN code, please carefully check the product.

56



FCC Compliance Statement F@

This device complies with Part 15 of the FCC rules. Operation is subjected to the following two conditions: (1) this device may
not cause harmful interference, and (2) this device must accept any interference received, including interference that may cause
undesired operation.

Changes or modifications not expressly approved by the party responsible for compliance could void your authority to operate the
equipment.

This equipment complies with FCC radiation exposure limits set forth for an uncontrolled environment.This equipment has been
tested and found to comply with the limits for a Class B digital device, pursuant to Part 15 of the FCC Rules. These limits are
designed to provide reasonable protection against harmful interference in a residential installation. This equipment generates, uses
and can radiate radio frequency energy and, if not installed and used in accordance with the instructions, may cause harmful
interference to radio communications. However, there is no guarantee that interference will not occur in a particular installation.

If this equipment does cause harmful interference to radio or television reception, which can be determined by turning the
equipment off and on, the user is encouraged to try to correct the interference by one or more of the following measures:

= Reorient or relocate the receiving antenna.
= Increase the separation between the equipment and receiver.
= Connect the equipment into an outlet on a circuit different from that to which the receiver is connected.

= Consult the dealer or an experienced radio/TV technician for help.

57



58

10 After-Sales Service



After-Sales Service

Return & Refund Policy

The following terms apply to regions outside of mainland of China.
Our policy lasts 72 hours for general items. If the time is due, unfortunately we can't offer you a refund or exchange.
There are certain situations we can't offer you a refund or exchange:

- 72 hours have gone by since you received the item.

- Any item not in its original condition, is damaged or missing parts for reasons not due to our error.

- Dislike due to personal preferences.

1. 1f you need to refund or exchange, please click Contact Us on the bottom of our website and leave your message. We will
contact you within 3 working days.

2. To be eligible for a return, your item must be unused and in the same condition that you received it. It must also be in the
original packaging. Any missing parts will delay the refund or cause partial refunds.

3. You will be refunded after we receive the returned product and check it. Once your return is received and inspected, we
will send you an email to notify you that we have received your returned item. Then your refund will be processed, and a

credit will automatically be applied to your credit card or original method of payment, within 7 business days.

4. If there is insufficient stock of exchanging products, we will inform you about the specific treatment.

5. Please contact us first if you want a refund or exchange. We will not accept returns or exchanges if you haven't contacted
us in advance.

6. After-sales service: support@angrymiao.com

59



After-Sales Service

Disclaimer

1. For related products purchased through non-official channels, we do not provide corresponding after-sales service and
do not bear the transaction risk arising therefrom.

2. All rights reserved by Angry Miao.

60



/%) Angry Miao

[_cerTiFED P
=TT ©



@Angry Miao

AMAFA 3 —%—=3Za7IJ)l

I
BEVWLITFHDONAESTEVET



=N

© 00 N O a0 b~ WO N =

-
o

BUELMEZE  .euveenrennnensseeninnnteeersnneetteanensseenetansee s raneeare e ans 3
DA YT AL —=RF AR ceevrerernerireerieiiiieirier e ereeee e seneaes 8
S T T - S 10
LA = —BRTI ceeuenenneenennennerneee et aeeareaeaennesnennenneenennns 13
F—FRGUDH X R TA X eovrerenrenreerrnereareinrieriierierieeaeaaaaa 16
I 10N P R O, T TT T 18
GIBBIEINE weveerenrennennrunennern e ernete et st aree s rrasenserareareaas e srans 20
L] -~ 22
LR L S PP PPN 24



01 HmilE



HWEE AM AFA

BE AM-07

TELECID

582 Base Kit 2.00kg, Bundle 2.25kg

RAIEVIBE BN SFHI:65°, TV T 1> :5°
RUVEAR BRETIvXATINV—TRFIIIIIV b
At RSAN=FRE/NF—O—ILF—N—HE

;—EE?U /RGBT T FHRERA PC (Windows/macOS) TODREIZITIG

F—2RA v FRAAHE Ry XD v T

TINA REEREFHE A% / Bluetooth 5.0

AV r—2— (XA YR—RLE) (Eh5) BRA VDT —82— i1 > I —42—. CapsLock 1 I —2—
USB R— USB 2.0, Type-C (C to C /i )

Ny 71— U F I LR T —E5000mAh X 2

Q7AVLRRE 5W/85% MU TFIC7% 3 L BBHIICTKEZMIEL. 100%TLEED XY,
RRXHEEH 25W

4



HmBlE

Bundle




HmBlE

Base Kit




HaBlE

(ED5) BRAYITr—2—, #Ei( P —42— Capslock 1 Y7 —&—




02 94O RXRA2A—FHAR



IA4YIRA2—bHAF

LINYT—=Ih5 AMAFA RIEZRO B L £ 9,

2HDTHERTIRIE. TNAREERERLTTITAR— DB ETY,

3.FntEsc ZzR#|L L. BRZFVICLET,

4.7 =T ERVIZRETF+QZ SREARALLET. QF D51 FOHFHLATRIL OS5 MEATICHRDET) |
Bluetooth X7 U VI E—RIZADET,

5FNARERTUVIRTHR. CEAVERITEY,



10

03 ¥a—rAyk*—



Ya—-thybF-—

N F > Fn+Esc & 1 U ERIFL BRA VI —2—HRTEIT
BRA>Y 1 F7
77 :Fn+Esc % 5 MU ERIFL BRA VD —2—hNE1T

LRTUVTH:
B OO T—2—DATRAL. YWEF—DF 1 MHETRLT

2.RT) VIR

s o A
Blustooth A7) > | P+ QMWEE SBMLERIRL L. T | e 0 o 5 1 SURIRTHAL . QMWE %—051 M3 BIIETHIT

E-FR Z1/2/3 |\ ZHERE
3. AT :
A OO —2—nETRITL. 57 M ERIOT I MRS
(BRICKRBLUBE, B0 YO —2—h 3WREREICRITLTH5HMT)

1Eh Bz S
B O —2—RTRML. YWE F—D 51 bABTRIT

21D B MR

Bluetooth i 7 /N1 Fn+ Q/WE L. T/\1 X 1/2/3 %D e 13 IR TERIL . QAWIE £ — 5 1 A 3 BT T

Z2DYIHER Bx
3. $EHARINER -
BRA YOI D BTRUTL. S MPERRIOI I MRS
(EICRRLIS5E. BT o7 —2—h SHRFREICRT L THSH)

11



Ya—-thybF-—

(B9s) B D — 8 TN
Rce Fn+]T7z2 o8 10 BIEOTREEE, BEGHET

Fn+[BERHE
75~100%: BB > P — 2 —HME TRl BTSRRI
50~75%: BiFA > S — R — D EIRTREE. RIT
Ny T)—ZBFRR  |FnP
25~50%: BRI — A —H'F L O I THElE. |47

0~25%: BIRA > D7 — 2 — W R TRME. =AT

IR/ DAVLRRER, LR Ny T —REBRT) ORBICHGLAETRR

RERTR
100%FEIN B LRETRUT
BNy 71 —HRERER 5% FKih BIRA VST — 2 — M5 DT LICHRTRR

TJr7URU—=Utyh FneR%E BB ERIFL

12



13

04 L1rv—t*—Hd%



L1 v—r*x—E5

L1¥—0

14



L1 v—r*x—E5

LA —1

1. Bluetooth 7 /\f X 1 4. )€y k 7RGBI 7T/ hyIEE
2. Bluetooth F/\1 X 2 5. Ny T —RBRT 8RGBI7IV hXE—R+
3.Bluetooth 7/\f X3 6.RGBEEE 9.RGBI7I¥ hRE—FR-

15



05 *—MHIDHXEITX

16



F—RINDHRETAX

SFn ¥ —ZRIAREIAXARETT .

SRILFATATE—DHREAIA X ZYR—b:ZTa—b/Sa—MRR. RVa—LT7v I R)a—LET > GO,
BE/—BELE RO (ILFATAT7F—ET72ILETRERBEESATVER A, HREIAXTEMTEET)

SLAV T OETEMTEET.

ST LIITTYTITRIED. EDZBLDLAV—PHREZEMFETT, RFIDOT7—LTTTIE
http://diy.angrymiao.com/ TH U Y O— R TE 7,

ST T7—LIITTYTT—RE Web A b Y-S vIILXTs 7 THEHSELET,.

17



06 ITRRDHARXEZITL X

18



TREOHZX AL X

AM AFA |3 3ERBED R E N DREN AT ARIRIERICE D RENDICHBEDICHITRRBROBENATETT . RISROBEME.
RiFRD2BDOERM (U VEH- 5L/ XTVL M -BH) CEST Imm O PORON FEAT +—L 2#) OEHE
DEAT. BFHO T4 =) %2RBLET,

27 UL R@RIER U EHRER
Gearl
(RAhwiR=%L)
1 2 3 il Gear2
‘ %ﬁﬁﬁ%‘gm ‘ (Gear2 [CZ kv MNPRE
=)
Gear3
(Gear3 LA~y
=)
BEFIA—L (F—RAYFRARBHN -210) L 11 28 L 1 2
PCB 7 # — L4 (BifT(FEaH-BRNDSLTT) 1
RELTA—L (REBL-BROFFER) 1

19



07 PEFIE

20



S EFIR

DEAA R CBRILEE W,

21



08 HEIAZR

22



mWans

1. A by N—FE U > ERRIER X 10
2. Ay N—EFZXF YL ZMRIFR X 2 (8 MUZA
ERICESTE )

3. L—H—ZIMNRI M2*3 X 2
4. L—H—ZIENR M2*8 X 2
52w Xy FRI M2*4 X 4
6. Z WX yFRT M2*8 X 4
776 FZA/N— X1

8 T4LELYF X1

23

973y =TI X2
10.BBA7+—L4 () X1 (55 1RISEERICETE)
NRBAT7 +—L (H) X1 (AL)
RARIERTR by /X=X 2

BARISRABRE L — ~ X1

14 AR —F X 1

5. 1—H—=a7I) X1 (REBLEEDH, AARERIT
A4 2D - i)

16. HRAA K X1 (FEFBLRBOH. AARERITE > 51
> DFH)



09 HmEEk

24



HmER

EEROEF L ERORED O, REINBERI CICRAERZEEAVWLEY,

Angry Miao 1&. HRERICLZRERBLEY —ER e/ LEREOHMORMESNRLET, XXF v RILHSHEAL
TeRWEIRTORMIZ. BEERZBEVLLEITET,

AM AFA 3. EEOAN > TEBOEY 2 —IILETIC.

BON—I—FRERE TSN-BFETILT 7Ry FOBEEED 14 XF)

DENFATNIBHO Y — AT TVE T,

1.https://verify.angrymiaocom IcOF 1> * LT,

*Discord 7AT > k. Google 7TAT Y b, FLREA—IWENRRT—RIZEBZTHIY MEBRDRETT, CTHILEIL,
2001 V#OBEET. SNUTO UXFEANIL. TOTON—DEILHD T>>] ZFRFv I LTABETIATIIRL
TLIETW,

3. ZDTF®D TVERIFY) RE>VH I

25



10

7I72—=H—EX

26



T7I74—-H—EX

UF07 78— —EAKXEZBAERNOBERICERINE I,

B BEICOVT

ZITEROE 2 BENAOSHELEDBE. CHLEIETWEETFET, HRIBITLBE. FLUATOBEIETERENST
WHWLhRET,

-EAROERITIMO NS 2 BEAIRB LSS

- HHOBRICESAVRIBCEHROFRESE. BBITKOREBLIBEDH 3156

- BANBIFHICEZHE

LIRG - REZCHFLOBE. YT TH A FOTE Contact Us & D THEK 72T L, 3EXEBAURICTREVWLLET,
2B - REZCHLEDHE. FTHMICTERLTV, BRIOTEELIRBEIEZITMO. SHIGVWLHBRET,

3.CHBICKEL T, ARAREAT. SBRTRCEERVRETHIBELNHD ET, TNy T —JICANTIRELCE
TV, BROFBENHZBE. BL2DBEN. FEDZELSIVTORE. REZVLIMRIBAENTEVET, TTH
<RTE W,

4BRBVIIEWEEGRE YA RE - RERIC. BFTX—LZzBERICXEL. RENEBZEDE T, BES5~7 HEHR
ICEENTET LET,

5. X|DBE. EEVYNOBIEEFRNAERDFWICOVWTITEEVLLET,
6. ZDfth. TARBASIL supportjp@angrymiao.com A TEIG < £ E W\

27



T7I72—H%—EZX

REERE
R : CAB&L D —FR
LRAREHBAOHEICE L TOEEEEZENRIZHDTY,

support.jp@angrymiao.com NCEAE L 72TV BFIFTIFICELT. CHAEBIVERTEZ2H0NMBETYT (TEXETE
A, CEAXZTRREX—I. BAYA LOTIR—DF) ,

HHOF—R-—FREBEICHAREZIAATNEBTHD 1 FHOREZ CRELTVWE Y. Bb. Hith. BFaBaX
BIZBEERDET,
HARAEER

1L BEBERICRBEZZBOREZLIGBRICE > TREEGNELTVEHEA, B LLREROCEABAEZ LR IERRRENE
FITIRA VL St Il L5 a

2. WS AHBBEBILRBIERAEOEICRT RO ONDHWE X 0IZIEE
3K HIE. BKE. BE. AXE. TOoMOXIHE. REEE. KDDEA. BEFONABNERICLZFES

REFR

LARIL— b (BEHYVITHA b BERTERTOGCBE) UATIBATNEERREEHLT 72— —EXOHRHATT,
HEOEASSLIVERTRICERI2H5PZBEICICOVT, HHTR—IOFEZEDEVDHDOLLET,.

2. Y1t FREDABREZEBTIHVENELIBAICIE, BHOFERCARERETSZLNTEZDDLLET,

28



/) Angry Miao

Qc



